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Q.1 L is the father of P. R is the sister of P. S is the only son of R. L and V have only one
daughter. How is P related to S?

Ans K 1. Nephew

\f 2. Uncle
K 3. Brother
x 4. Father

Question ID : 71939922043

Q.2 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.

GPB, NGK, UXT, 2, IFL
Ans X' 1. CMC

o 2.BOC
X 3.BND
75 4.DND

[ Question ID : 71939922038

Q.3 In the following question, four letter pairs are given. The letters on left side of (-) is
related to the letters on the right side of (-) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans 1 LN-JL
X 2.0T-MR
o 3.PQ-NS
X 4.RA-PY

Question ID : 71939922039

Q.4 In the following question, select the related word pair from the given alternatives.

PEN: QDO :: ?
Ans X' 1. BOM :APM

o 2. JAP:KzQ
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X 3.8IT:TJU
/X 4.COP:BNO

[ Question ID : 71939922041

Q.5 In the following question, select the related words from the given alternatives.

Vehicle : Car :: Tool : ?
Ans X" 1. Round

W 2 knife
x 3. Cut
X 4.Bike

[ Question ID : 71939922040

Q.6 A big solid cube is painted with red colour on two opposite faces, yellow colour on
two adjacent faces and green colour on remaining two faces. Now 3 cuts are made on
each axis of this cube and then some small cubes are obtained. How many small
cubes will have one face painted with red colour and one face painted with yellow
colour?

Ans X' 1.20
X 2.16
W 314
X 412

[ Question ID : 71939922055

Q.7 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:

|. Some red are boys.
1l. All boys are small.

Conclusions:

I. All boys are red.
Il. Some small are red.

Ans « 1. Only conclusion Il follows
x 2. Only conclusion | follows
X 3. Both conclusion | and Il follows

x 4. Neither conclusion follows

Question ID : 71939922046

Q.8 Point R is 16 km towards the west of point J. Point T is 39 km towards the north of
point J. Point J is 12 km towards the south of Point S. Point Q is 10 km towards the
north of point R. If the point K is 144 km towards the west of point Q, then in which
direction is point K from the point $?

Ans X" 1. North east
x 2. South west

« 3. South east

x 4. West
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Question ID : 71939922053

Q.9 Identify the diagram that best represents the relationship among the given classes.

Stool, Teacher, Furniture

X 2

Ans

g

- OOO

Question ID : 71939922050

Q.10 In the following question, select the odd figure from the given alternatives.
Ans

X

v

®O|©|©

[

Question ID : 71939922054

Q.11 In a certain code language, ‘GON’ is written as ‘33’, ‘PAD’ is written as ‘18’. What is the

code for ‘TIR’ in that code language?

Ans  of 1 a4
X 2.45
75 3.51
X 4.46

Question ID : 71939922042
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Q12 f16R2T4=12and35R7T2=7,then40R20 T3 =7

Ans X' 1.4
X 2.10
X 3.6
s

[ Question ID : 71939922048

Q.13 A team of five members has to be formed out of 5men : P, Q, R, S and T and 5 women :
J, K, L, M and N. Following conditions should be kept in mind.

(A) Minimum two women should be in the team.
(B) S will not be in the same team with P.

(C) T and Q will always be in the same team.

(D) R will not be in the same team with J.

(E) If K is selected, then M will also be selected.

Which of the following teams can be formed?
. TQRKM

Il. PRTQL

. JIMKSQ

IV. STQJN

Ans  of 1 Bothland IV
75 2. Both Il and IlI
X 3.0nlyl
/5 4.0nlyIv

[ Question ID : 71939922044

Q.14 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:
I.NoTisR.
Il. Some K are R.
1l. No T is J.

Conclusions:
I. NoKis J.

Il. Some J are not T.
lll. Some R are J.

Ans « 1. Only conclusion Il follows
x 2. Only conclusion | follows
x 3. Both conclusion Il and Ill follows

x 4. Both conclusion | and Il follows

Question ID : 71939922047

Q.15 If ‘P’ means ‘+’, ‘Q’ means ‘+’, ‘R’ means ‘~’ and ‘S’ means ‘x’, then which of the
following equation is true?

Ans X 1.16S8Q4P19R23 = 27
/5 2. 11P16Q23S112R14 = 71
W 3.13Q182542P16R4 = 15

75 4.16P19Q57S12R11 = 7
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[ Question ID : 71939922049

Q.16 Arrange the given words in the sequence in which they occur in the dictionary.

1. Arrogant

2. Arrogance

3. Aromatic

4. Aromation

5. Aromapheutic

Ans X' 154312

X 2.54321
X 3.53412
W 453421

Question ID : 71939922037

Q.17 Suman walks 36 km towards west. She turns left and walks 12 km. Now she turns right
and walks 14 km. She again turns right and walks 12 km. She finally turns left and
walks 11 km. How far and in which direction is she now from the initial point?

Ans X" 1.39 km, North west
75 2.39 km, West
W 3.61 km, West

75 4.61km, North west

[ Question ID : 71939922052
Q.18 How many are male lawyers?
Farmer
\\ Male
16
7
19 42 8
/ 6
12
Lawyer
Ans X" 1 42
X 2.6
/X 3.14
o 448
[ Question ID : 71939922051

Q.19 Ten boys B1, B2, B3, B4, B5, B6, B7, B8, B9 and B10 are sitting in a row facing towards
north (not necessarily in the same order). Only four boys are towards the left of B9. B6
is fourth to the right of B9. No boys is towards the left of B2. B5 is to the immediate
right of B3. B4 is not towards the right of B6 and not towards the left of B9. B1 is
second to the left of B7. B7 is third to the right of B2. Only two boys are sitting
towards the right of B5. If B5 is to the immediate left of B6, then how many boys are
sitting between B10 and B8?
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Ans X' 1.8
v 2s
X 3.5
p N

Question ID : 71939922045

Q.20 By folding the given paper, which of the following cube cannot be made?

A|D

W @

Ans X" 1. Bothland Il

25 2.Both Il and Ill

X 3.0nlyll
W 4. oniy i

Question ID : 71939922056

Section : General Awareness

Q.1 Dancing postures of the Chowk and the Tribhanga are associated with which classical
dance form?

Ans  of 1 Odissi
X 2. kathakali
x 3. Bharatnatyam

/X 4. Kuchipudi

[ Question ID : 71939922058

Q.2 Who was appointed as the Chairman of Association of World Election Bodies (AWEB)
for the term 2019-217?

Ans x 1. V. S. Sampath
X 2. Hari Shankar Brahma
7% 3.S.Y. Quraishi
( 4. Sunil Arora

[ Question ID : 71939922070
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[ Question ID : 71939922074

Q.4 Capital of the kingdom of the Pallavas was
Ans x 1. Mysore

x 2. Madras
x 3. Kanauj

J 4. Kanchipuram

Question ID : 71939922067

Q.5 Which of the following element doesn’t react with diluted hydrochloric acid even on
heating but reacts with sulphuric acid?

Ans X" 1. Sodium

x 2. Iron
J 3. Copper

x 4. Magnesium

Question ID : 71939922061

Q.6 is rich in soil nutrients, such as calcium carbonate, magnesium, potash and
lime.

Ans X" 1 Alluvial Soil
o 2. Black Soil
X 3. Laterite Soil

/< 4. Arid Soil

[ Question ID : 71939922066

Q.7 Ashvaghosha, a poet who composed a biography of the Buddha, the Buddhacharita,
lived in the court of which ruler?

Ans X' 1. Ashoka
x 2. Bindusara
o 3. Kanishka

x 4. Gautamiputra Shri Satakarni

[ Question ID : 71939922069

Q.8 Who is the head of the committee that has been constituted by the Union Government
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to oversee the bifurcation of Jammu and Kashmir (J&K) into Union Territories?
Ans “ 1. Sanjay Mitra

/X 2. Ajit Doval
75 3. Sunil Mehta
X 4. Ram Madhav

[ Question ID : 71939922072
Q.9 2019 Asian Snooker Championship was won by .
Ans X 1. Yasin Merchant
X 2. Lucky Vatnani
o 3. Pankaj Advani
x 4. Subhash Aggarwal
[ Question ID : 71939922076

Q.10 FIFA World Cup 2022 will be hosted by which country?
Ans X' 1 Brazil

“ 2. Qatar

/X 3. Saudi Arabia

x 4. France

Question ID : 71939922075

Q.11 “Bonalu” in which Goddess Mahakali is worshipped is celebrated in
Ans X' 1 Odisha

x 2. West Bengal

( 3. Telangana
x 4. Karnataka

Question ID : 71939922057

Q.12 __ is present at the growing tips of stems and roots and increases their length.
Ans & 1. Xylem

X 2. Lateral meristem

« 3. Apical meristem

X 4. Intercalary meristem

[ Question ID : 71939922062

Q.13 Which of the following project was launched by Khadi and Village Industries

Commission (KVIC) to make carry bags by mixing processed and treated plastic waste
with cotton fibre rags?

Ans X 1 RE-INVEST
/X 2.REUSE

/X 3.REPLACE

o 4. REPLAN
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[ Question ID : 71939922071

Q.14 The (fixed) interest rate at which the Reserve Bank provides overnight liquidity to
banks against the collateral of government and other approved securities under the
liquidity adjustment facility (LAF) is known as

Ans x 1. Marginal rate
x 2. Reverse repo rate

J 3. Repo rate
x 4. Bank rate

Question ID : 71939922059

Q.15 Which of the following statements regarding Brahmo Samaj is incorrect?
Ans f 1. It didn’t believe in the Upanishads.

X 2. It critically drew upon the ideals of religions Hinduism and Christianity.
x 3. It forbade its members from criticising other religious practices.

X 4. It prohibited all forms of idoltary and sacrifice.

[ Question ID : 71939922068

Q.16 Which of the following statements regarding ultrasound is correct?

I. Ultrasound is employed to break small ‘stones’ formed in the kidneys into fine
grains.

Il. In echocardiography technique, ultrasonic waves are made to reflect from various
parts of the heart and form the image of the heart.

Ans X" 1 Only Il

X 2.0nlyl

o 3.Both land I

75 4. Neither I nor Ii

[ Question ID : 71939922063
Q.17 is also responsible for maintenance and management of data on inward
foreign direct investment into India based on the remittances reported by the Reserve
Bank of India.
Ans X' 1. NABARD
X 2. SEBI
/< 3.RBI
( 4. Department for Promotion of Industry and Internal Trade
[ Question ID : 71939922060

Q.18 Indira Sagar Dam is built on which river and in which state?
Ans X 1. Pench - Maharashtra

x 2. Pench - Madhya Pradesh
x 3. Narmada - Maharashtra

J 4. Narmada - Madhya Pradesh
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l Question ID : 71939922065

Q.19 Which of the following rivers drains Chotanagpur Plateau?
Ans « 1. Damodar river

x 2. Godavari river
x 3. Brahmaputra river

x 4. Chambal river

Question ID : 71939922064

Q.20 “Method of election of the President” provision has been borrowed by Indian
constitution from

Ans “ 1. Irish Constitution
75 2. USA Constitution
x 3. Australian Constitution

x 4. Canadian Constitution

Question ID : 71939922073

Section : Arithmetic Ability

Q.1 Volume of a cylinder is 4 times to the volume of a sphere. Their radius are equal. Sum
of the radius and height of cylinder is 133 cm. What is the volume of sphere?

Ans
X 136572 cm®

< 2. 40954 cm?
' 3 38808 cm’®

X 4. 35402 cm®

[ Question ID : 71939922092

Q.2 Compound interest received in the third year on a sum is Rs. 442. If the annual rate of
interest is 15%, then how much compound interest will be received in the fourth year
on the same sum? (Interest is compounded annually)

Ans X' 15127

W 2.5083
75 3.5143
X 4.624.3

Question ID : 71939922088

Q.3 What will be the ratio of the Least Common Multiple and Highest Common Factor of
the 10, 20 and 30?

Ans X' 1.8:1
261
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XK 3.4:1
X o4.2:1

[ Question ID : 71939922079

Q.4 Discount offered on selling a watch is Rs. 2016. If the marked price of this watch is Rs.
7200, then what is the discounted percentage?

Ans X 1. 26 percent
x 2. 34 percent
{ 3. 28 percent

x 4. 32 percent

Question ID : 71939922082

Q.5 If Ais 14.28% less than B, then B is how much percentage more than A?
Ans X 1. 12.5 percent

x 2. 20 percent
J 3. 16.66 percent

x 4. 25 percent

[ Question ID : 71939922083

Q.6 Two trains leave P and Q towards Q and P at same time. Speeds of train moving from P
and Q is 25 km/hr and 30 km/hr respectively. When they meet then it is known that the
train coming from Q has travelled 10 km distance more than train coming from P. What
is the distance between P and Q?

Ans X" 1.100 km

W 2 110km
75 3.120km
X 4.90 km

Question ID : 71939922090

Q.7 Length of a rectangle PQRS is equal to the length of side AB of a triangle ABC. Height
of triangle from base AB is 8 times to the breadth of rectangle PQRS. If the perimeter

of rectangle is 100 cm and the area of a rectangle is 600 cm?, then what will be the area
of triangle ABC?

v 1. 2400 cm?

Ans

X 2. 3600 cm?

72531200 cm?

X 4. 4800 cm?

[ Question ID : 71939922093

Q.8 The pie chart given below shows the number of eggs sold by a shopkeeper in different
days. The number of eggs sold on particular day is shown as a percentage of total
number of eggs sold on all days together.
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D1,
De, 11%

26% / D2,

12%

D3,

D5, 15%
19% [ by
17%

If the total number of eggs sold are 1800, then what is the difference in number of eggs
sold on day D6 and day D2?

Ans  of 1 052
75 2.246
X 3.250
75 4.242

[ Question ID : 71939922094

Q.9
—2/3 —4/3
If A= (243)%1% x (243)%%8 and B = [_1 ] - { y ]

216
then what is the value of B/A?

Ans X 1.3/4
2. 4127
X 343
X 4.83

[ Question ID : 71939922080

Q.10 One-third of a certain journey is covered at the speed of 20 km/hr, one-fourth at the
speed of 30 km/hr and the rest at the speed of 50 km/hr. what will be the average speed
for the whole journey?

Ans X 1,35 km/hr

W 2.30 km/hr

X 3.20 km/hr

X 4.25 kmihr

Question ID : 71939922089

Q.11 What is the greatest 5 digit number which when divided by 4 and 5 leaves remainder
3?

Ans X 199928

25 2.99987
o 3.99983
75 4.99953
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[ Question ID : 71939922081

Q.12 Ais 30% of B. C is 45% of B. B is how much percentage less than (A + B + C)?
Ans x 1. 28.56 percent

o 2. 42.86 percent
x 3. 57.14 percent

x 4. 32.56 percent

Question ID : 71939922084

Q.13 The line graph given below shows the number of trains departing from a station on
different days of a week.

2500

2000
1500 4 1800 1600

2000 2000

1000 1200

Number of trains

500

DI D2 D3I D4 D5
Days

What is the ratio of the number of trains departing on day D5 to the total number of
trains departing from the station on all 5 days?

Ans X' 1.33:10

W 2 10:43
X 3.43:10
/< 4.10:33

[ Question ID : 71939922095

Q.14 If sum of two numbers is 15 and sum of their square is 113, then what is the product of
two numbers?

Ans  of 1 56
52,112
X 3.50
X 428

[ Question ID : 71939922078

Q.15 The bar graph given below shows the number of toys sold by different shopkeeper on
a particular day.
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1600 - 1500
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7 1000

1000 { goo 850 900

800 -
600 -
400 -
200 -

Number of toys

S1 S2 83 S84 S5 S6

Shopkeeper

What is the average number of toys sold by first 3 shopkeepers on that day?

Ans  of 1 850
X 2.750
/X 3.800
25 4.900

Question ID : 71939922096

Q.16 A and B together can complete (3/5) part of a work in 18 days. If A alone can complete
(1/3) part of the same work in 25 days, then in how many days B alone can complete
(4/5) part of the same work?

Ans X 1. 35 days

W 2. 40 days
X 3.60 days
x 4.48 days

[ Question ID : 71939922091

Q.17 P, Q and R are partners in a company. In any year P receives 1/6 part of profit, Q
receives 1/5 part and R receives Rs. 38000. How much amount will P get as profit?

Ans X" 1.Rs. 9000
o 2. Rs. 10000
75 3.Rs. 8000
75 4.Rs. 6000

[ Question ID : 71939922086

Q.18 Containers | and Il have milk and water in the ratio of 4 : 5 and 8 : 3 respectively. In
what ratio Container | and Container Il should be mixed to get a new mixture in which
milk and water are in the ratio of 16 : 13?

Ans &1 12:25

X 2.23:11
/X 3.28:13
o 41811
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l Question ID : 71939922087

Q.19
What is the value of X: 335x_g_4—02

Ans  of 1 04
K 212

X 3.36
p N

Question ID : 71939922077

Q.20 A sold a table to B at a profit of 40%, B sold it to D at a profit of 60%. W sold a chair L
to X at the loss of 20%, X sold it to P at a loss of 30% and finally P sold it to G at a loss
of 50%. Price at which D bought the table from B and the Price at which P bought the
chair from X is same. If the price at which W bought the chair is Rs. 600, then at what
price D bought table?

Ans  of 1 Rs 336

75 2.Rs. 396
X 3.Rs. 219
75 4.Rs. 348

Question ID : 71939922085

Section : General English

Q.1 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans f 1. Liaison

X 2. Laison
x 3. Liaision
X 4. Liason

[ Question ID : 71939922107

Q.2 In the given question, four words are given out of which one word is incorrectly spelt.
Choose the incorrectly spelt word.

Ans x 1. Library

X 2. License
x 3. Receive
( 4. Liesure

[ Question ID : 71939922108

Q.3 Rearrange the parts of the sentence in correct order.

P: whirling round the sun
Q: rope was tied to them
R:itwas as if a

S: and they kept

Ans X" 1 PSQR
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75 2.SRQP
X 3.RQPS

W 4. rRaspP

Question ID : 71939922104

Q.4 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

When are you
Ans X" 1 goes

( 2. going
x 3.9o
X 4. gone

to write to your friend?

[ Question ID : 71939922101

Q.5 Improve the bracketed part of the sentence.

Don’t lean against this wall, it (would) collapse.
Ans X 1 shall

x 2. No improvement
X 3. must
W 4 might

Question ID : 71939922100

Q.6 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

On the hook
Ans x 1. In a bad condition and will not last long

( 2. To be responsible for'something
x 3. Very rarely

X 4. Being too happy

[ Question ID : 71939922110

Q.7 Rearrange the parts of the sentence in correct order.

P: for his behaviour

Q: he is clever

R: towards his parents

S: and has an explanation

Ans X' 1. SRQP
X 2.RsQP

X 3.PRSQ

W 4 QsPR

Question ID : 71939922103

Q.8 Choose the word that can substitute the given sentence.
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One who is unable to pay his debts.
Ans x 1. brood

x 2. caucus
“ 3. insolvent
x 4. bale

Question ID : 71939922111

Q.9 Choose the word that is opposite in meaning to the given word.

Neglect
Ans X 1 Bitter

( 2. Appreciate
75 3. Foolish
x 4. Scare

[ Question ID : 71939922106

Q.10 Choose the word that means the same as the given word.

Loyal
Ans x 1.Ban

x 2. Permit
x 3. Taboo

( 4. Devoted

[ Question ID : 71939922105

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

People always (1)/ admires a (2)/ courageous person (3)/ No error (4)

Ans  of 12
X 2.3
X 3.1
X 4.4

Question ID : 71939922098

Q.12 Improve the bracketed part of the sentence.

She kept us all (at) suspense regarding her future plans.

Ans X" 1. No improvement
W 2.in

/< 3.0on

25 4. with

Question ID : 71939922099

Q.13 A sentence has been given with a blank to be filled with an appropriate word. Choose
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the correct alternative.

This is the bicycle chain is broken.
Ans X 1 that's

« 2. whose
x 3. who'’s
X 4. that

[ Question ID : 71939922102

Q.14 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

Lion’s share
Ans X 1. Totally unaware

« 2. A major share
X 3. Completely alone

x 4. Done for material benefits

Question ID : 71939922109

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

The young soldier (1)/ was brought (2)/ before a king (3)/ No error (4)

Ans x1_1
X 22
W33
X 4.4

[ Question ID : 71939922097

Comprehension:

Read the following information carefully and answer the given questions.

Information and Communication Technology has a major impact on the on the world in which
young people live. Similarly, E-learning has considerable potential to support traditional
teaching approaches, which are well known.

A very good example of this potential is the fact that E-learning will assist the making of
connections by enabling students to enter and explore new learning environment, overcoming
barriers of distance and time. This has another advantage because it facilitates shared
learning by enabling students to join or create communities of learners that extend well
beyond the classroom. It further assits in the creation of supportive learning environment by
offering resources that take account of individual, cultural or development differences. E-
learning also enhances opportunities to learn by offering students virtual experiences and
tools that save them time, allowing them to take their learning further. Thus, all educational
institutions should explore not only how ICT can supplement traditional ways of teaching, but
also how it can open up new and different ways of learning.

SubQuestion No : 16

Q.16 What is the major reason for the high potential of E-learning in supporting
conventional teaching methods?

Ans « 1. It is facilitated by ICT, which young people understand.
x 2. It enables students to create communities of learners.
x 3. It gives more opportunities for students to learn.

x 4. It creates a supportive learning environment.
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[ Question ID : 71939922114

Comprehension:

Read the following information carefully and answer the given questions.

Information and Communication Technology has a major impact on the on the world in which
young people live. Similarly, E-learning has considerable potential to support traditional
teaching approaches, which are well known.

A very good example of this potential is the fact that E-learning will assist the making of
connections by enabling students to enter and explore new learning environment, overcoming
barriers of distance and time. This has another advantage because it facilitates shared
learning by enabling students to join or create communities of learners that extend well
beyond the classroom. It further assits in the creation of supportive learning environment by
offering resources that take account of individual, cultural or development differences. E-
learning also enhances opportunities to learn by offering students virtual experiences and
tools that save them time, allowing them to take their learning further. Thus, all educational
institutions should explore not only how ICT can supplement traditional ways of teaching, but
also how it can open up new and different ways of learning.

SubQuestion No : 17
Q.17 Which word from the passage is opposite in meaning to closure?

Ans x 1. Experiences
K 2. Potential
x 3. Considerable

f 4. Enhances

[ Question ID : 71939922117

Comprehension:
Read the following information carefully and answer the given questions.

Information and Communication Technology has a major impact on the on the world in which
young people live. Similarly, E-learning has considerable potential to support traditional
teaching approaches, which are well known.

A very good example of this potential is the fact that E-learning will assist the making of
connections by enabling students to enter and explore new learning environment, overcoming
barriers of distance and time. This has another advantage because it facilitates shared
learning by enabling students to join or create communities of learners that extend well
beyond the classroom. It further assits in the creation of supportive learning environment by
offering resources that take account of individual, cultural or development differences. E-
learning also enhances opportunities to learn by offering students virtual experiences and
tools that save them time, allowing them to take their learning further. Thus, all educational
institutions should explore not only how ICT can supplement traditional ways of teaching, but
also how it can open up new and different ways of learning.

SubQuestion No : 18
Q.18 Which word from the passage means the same as overcoming?

Ans ( 1. Surmount

X 2. Forfeit

x 3. Surrender

X 4. Yield

[ Question ID : 71939922116

Comprehension:
Read the following information carefully and answer the given questions.

Information and Communication Technology has a major impact on the on the world in which
young people live. Similarly, E-learning has considerable potential to support traditional
teaching approaches, which are well known.

A very good example of this potential is the fact that E-learning will assist the making of
connections by enabling students to enter and explore new learning environment, overcoming
barriers of distance and time. This has another advantage because it facilitates shared

@Teacningninia.in




learning by enabling students to join or create communities of learners that extend well
beyond the classroom. It further assits in the creation of supportive learning environment by
offering resources that take account of individual, cultural or development differences. E-
learning also enhances opportunities to learn by offering students virtual experiences and
tools that save them time, allowing them to take their learning further. Thus, all educational
institutions should explore not only how ICT can supplement traditional ways of teaching, but
also how it can open up new and different ways of learning.

SubQuestion No : 19

Q.19 What aspects of E-learning should schools and colleges explore?

Ans x 1. How it can help students understand learning software better
x 2. How it can support traditional teaching methods
x 3. How it can give rise to alternative learning systems

« 4. How it can give rise to alternative learning systems and how it can support
traditional teaching methods

[ Question ID : 71939922115

Comprehension:
Read the following information carefully and answer the given questions.

Information and Communication Technology has a major impact on the on the world in which
young people live. Similarly, E-learning has considerable potential to support traditional
teaching approaches, which are well known.

A very good example of this potential is the fact that E-learning will assist the making of
connections by enabling students to enter and explore new learning environment, overcoming
barriers of distance and time. This has another advantage because it facilitates shared
learning by enabling students to join or create communities of learners that extend well
beyond the classroom. It further assits in the creation of supportive learning environment by
offering resources that take account of individual, cultural or development differences. E-
learning also enhances opportunities to learn by offering students virtual experiences and
tools that save them time, allowing them to take their learning further. Thus, all educational
institutions should explore not only how ICT can supplement traditional ways of teaching, but
also how it can open up new and different ways of learning.

SubQuestion No : 20

Q.20 Which of the following statements is true about E-learning?

Ans x 1. It takes care of person to person differences between students.
x 2. It helps students contact other students in distant lands.
« 3. It has considerable potential to support traditional teaching approaches.

x 4. It gives more chances for students to learn, as it saves their time.

Question ID : 71939922113

Section : General Hindi

Q1 T T 9T § IUYF WG BT I HIP RFaRIE $t gfd S|
981 99 UBR F Sudsy §
Ans x 1. g%l
W 2 3t
X 3. axgat
X 4G

[ Question ID : 71939922122

Q.2 3w T TRl ® & Y I {19 B
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Ans X" 1 fBE B SR I & forg TaR g Sreh
W 2. UolE w oM & g daR & wei
7< 3. el M & e dar g1 seff|
X 4. FiosTio & T R R @ ool

Question ID : 71939922125

Q.3 3T Y 31eg 1 gatgaTHt Wsg F1d BIQ|

ST
Ans X' 1R

W 2. ds
X 3799
X 4. st

Question ID : 71939922123

Q4 fw T TRl ® | Y I 919 B
Ans  of 1 St R Tedt B

7 2. 9% AR o 91 1 1R STl B |
25 3. 39 g g i gug ot
< 4.7\ SR Tt T Ao TS 2R

Question ID : 71939922128

Q5 g 7Y Treg w1 WY e g ST
Hedid
Ans (1_W+3‘|ﬂ
X 2.5 + 3fid
X 3T+
X 4.5 + 3fd

Question ID : 71939922118

Q.6 T T 9T BT HTd JId DI
T GRT Yol 31 S 51 A
Ans X" 1. T BT
2. s T
X 3. ol ygora
X 4. G dHmTd

Question ID : 71939922126

Q.7 3T g I/ § | QAT faivor gra S|
Hrefterd fagr safe 41
Ans x1_a
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/X 2. PN
X 3.l
4T

Question ID : 71939922119

Q.8 Ay Tre g 1 WET Weq T Fid BT
it af
Ans X 1.gadt: g
W 2. e s
75 3. 39 916 BRI
X 4 T TR

Question ID : 71939922121

Q.9 f3u Y Neawu & Iugad YeTay &1 99+ S|

RN RAT R
Ans X 1. GHI-UT IS

W 2. TR
X s.geus
p Rk fecicka)

Question ID : 71939922130

Q.10 {3 7T are F fpar e SR
YEHAT AT TP TR
Ans X 1. s@He fobar
X 2. Rumfes foma
W 3. Tod® fear

X 4. 5gaa fosar

Question ID : 71939922120

Q.11 frgferfad wreal o | WA Tree F1a PRI
Ans 1 7O

o 2. =

X 3.firfire
y R

Question ID : 71939922127

Q.12 {3y T Freg F1 faew 2sg F1a S
wa
Ans (1_Wuf

W o AT
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[ Question ID : 71939922124

Q.13 fau 7Y gera’ &1 3 Jra Fifr|
T & PTaT AT
Ans o 1 T B oA
X 2. TR AT
X 3. g ST FHSA
75 4. 99 W@ Bl

[ Question ID : 71939922131

Q.14 fg T fvm g & @ ord v g w1 Fifvm)
Ans x 1.()

X2

X3,

v N

Question ID : 71939922132

Q.15 fau Y ar ® for R farg &1 Syt faran ST S9at wga #ifrg)
Tg U} wurer faA) ao ) wonht ag sga a=i §

[ Question ID : 71939922129

Comprehension:
TS TR T T B | IR Y ATYd S UG U1 IS UY F IR fImedt § ¥ Wel fawed g

oraeh QR 32 H B SR Joer & Y 7T S dTen Fad 581 Ud Sl 81 39 fa W
SR, TTAT AT 3R YT AEHUT & AT IGE TN BT gAY U R ST die 3| 9 R A
SR 3 1 ST ST W foa T | SETaeT D SR X7 SHTET 3Ried il &
SATERT T § | I8 R Sfde T &1 AT & & T1aT o1l 81 S¥6R & a1e I € R A
Suract &1 el AUE TR W YE 8l ST 5, TS T BRI & A1Ed ¥ 3= Geit &1
Tdhe Rl gl SruTac o1 AeR Sia- & G UG ST § | 11 SitaH S T 3T UG SRl
81 URA 3 H urach o7 g 3fF TgTd B 39 A B SUHR R USRI 3 faorg o7 Ul
AT ST 81 39 o &1 g 8t Yo 3TR URURSE dics & T--1 STyl g | Sraraaht & & o &t
&t et Sff, AT TR Sff SR RTAT MO BT ST BT I Bl

SubQuestion No : 16
Q.16 Surgeh frw =1 7=Ts STt 82
Ans x 1. gfofar
25 2. fprt ot e

o 3.
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X 4.3fER

[ Question ID : 71939922136

Comprehension:

TS TR 3T T B | TR Y eAaYde U aul Udd Uy & IR fadmed I Wt fadmed g

Shuraeht g¥ <=1 7 7 3R I F W1 HA S aTel Ga 981 Ud gidm ¢ | 39 fa T e
SR, TTAT AT 3R YT AEHUT & AT IIGE TN BT G1a1T Ul B SrieAr die 3| 59 G |
SRR A G ST ST W foha T | SHTaeT D SR I SHIET SRReA gl §
SATERT T § | I8 R i T &1 ST & {37 TH1aT o1l 81 3¥6R & a1e 9 g Rf o
Suracht &1 Al ATUE TR W YE 8l ST 5, TS TS ABR! & HIEH ¥ 30+ G=it &1
Udhe Rl gl SraTaah BT AgR Shad H Q=i UG FHdl 8| a1 SiiaH Sfi= &1 I8 UG
81 URd = ¥ urach &1 9gd 31 Heda 81 39 37 &l SUPR R UHT=I Bt fawr &1 el
AT STl 81 39 fo &1 9gd &) Yax 3R URURS a1 | H-ra1 e 81 iuraet & 37 = 3
3t et Sff, AT TR Sff SR TAT TR ST ST BT ST Bl

SubQuestion No : 17
Q.17 Suraett Gaft & St & 1 v Hedl 82
Ans 1 ply
p PR
W 3wl
p R

Question ID : 71939922137

Comprehension:

TS TR &1 T B | TR Y eAYdd UG aul Udd Uy & IR fAdmedl & 9§ Wl fadmed g

Sorach Q¥ =1 B g SR I & W1 AR S aTe oY g1 Ud eial o | 39 fo e
SR, TTaT AT 3R YT AEHUT & 1Y AGE TN BT IR IUf R ST dre A1 3 gt A
SATITaTRIT 3 Y AT SbT W o T | SHTaT B SfeT I ST 3Riveg <ol §
SR @ 81 T8 TER Bl U B SHE & for HH1 ST 8 | G¥eX & ol 9 81 TR
TG FIH TR W LF 81 Skl 8, YD TATS AGRI & A1eqy I ot gt oY
Tdhe T gl SruTac o1 AeR S B G Ua ST § | 71 SitaH S &1 3T UG Bl
81 YRA <=1 B g &7 9ga 31 HgTd 8| 59 3T & SiYdR R U 3 faw &1 udie

AT ST 81 39 o ) 9g 81 o 3R URURS dics I T STyl 8| Sraraaht & & o &t
3t deft S, AT TREach St iR LATaT TONRT 1 g Y ST Bl

SubQuestion No : 18
Q.18 3R F 9I¢ PHIH-A @R P! ARt IR g el 32
Ans X 1 eTEed
X 2.8l
X 3.3
of 4 furac

[ Question ID : 71939922134

Comprehension:

TS TR 3T T B | TR Y eAydes U qul U Uy & IR fadmed B I Wt fawmed g

Shoraeht g¥ <=1 B 7 3R I F W1 T S aTel Gad 981 Ud gidm ¢ | 39 fa T e
R, AT HaT 3R YT TEH0 & 1Y e IY BT aTar gul B SRt e 31 39 g
SeTATRYT 3 Y SR ST ST fopaT 1| ST Y SR 1 ST e At &
SATERT T § | I8 R Hifdd T &1 ST & {37 BT o1l 81 3¥6R & o183 g RE A
urach @t Ffval SIS TR W PE 81 9 8, UAS THIS AERI & T1eqd ¥ 30t g=it o)
Yebe Rl 8 Eurdehl BT AIER Siia & G2 Y& SRl §1 Tl Siia Sii BT T8 T Bl
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B YRd < | SIUTaal BT Igd e Hexd 8| 39 18 Pl bR TR U1 BT Taor BT Ul
T ST 81 39 37 &1 95d &) Yo 3R URuRS aids I A1 Sl | Siaraett & o o bt
3t et Sff, AT TR Sff SR ATaT MO B ST BT e Bl

SubQuestion No : 19
Q.19 IUYe TR BT UG S HT g2
Ans X' 1 g9y

X 2. e
o 3. forach
75 4.3

Question ID : 71939922138

Comprehension:

TS TR & T B | TR Y AT Yde UG aul U Uy & IR fadmed! | @ Wt fawmed g

Soraeht gY <=1 H 7Y SR I F WY FAR S aTel Gad 981 Ud gi1 ¢ | 39 fa 4 tam
SR, TTaT AT SR YT TEHT & 1Y AGE TN BT FAIT QUf R et dre A | 9 gt A
SR A G FATHR ITbT WRTA [T AT | SHTERIT i ST A ST 3Ried rdt 9
SATERTH T | 98 IR Hifdd T 1 ST & &= T1a1 o1l 81 G¥6R & a8 9 8 I H
Sluracht 3 daial AUE TR W YE 8l S 3, TS TS IR & A1 § 30 G=it &
Tdhe T gl SraTda o1 gk Sha- & G UeH ST § | 11 SitaH S &1 3T UG Bl
81 YR <X ¥ uraeh &1 9gd 31 Hedd 81 39 37 &l SUPR W USRI &t fao &1 Uelld
AT STl 81 39 o ) 9 8 Yar 3R URURS dics & T STyl 8 | Sraracht & & o &t
3ot derht S, AT TREach St iR UTaT TTONRT Bl g b ST 7l

SubQuestion No : 20
Q.20 g R, a1 9 Fequ $ Iy frda 9 916 a9ard I sraven die 32
Ans X 1.

W 2 deg

25 3. dmad
P R

[ Question ID : 71939922135

Section : Discipline1

Q.1 Which of the following is correct order of curriculum development?
1. Evaluation of objectives
2. Formation of objectives

3. Implimeting teaching - learning experiences
4. Selection of teaching - learning experiences

Ans X' 121,34
W 22431
753.2,34,1
X 4.2,1,4,3

[ Question ID : 71939922156

Q.2 The 74th amendment added municipalities in which part of Indian Constitution?

Ans  of 1 IXA
X 2.x
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X 3.XA
y

Question ID : 71939922154

Q.3 Which sociologist defined religion as unified system of beliefs and practices related to
sacred things?

Ans X 1. Karl Marx
x 2. Talcott Parsons
X 3. Maclver and Page

o 4. Emile Dukhiem

[ Question ID : 71939922157

Q.4 Which of the following are important points that should be considered while selecting
any teaching - learning material?

|. Age appropriate
Il. Level appropriate

lll. Availability
IV. Creative use

Ans X" 1 | llland IV
W 2111, and IV
X 3.1, lland Il
25 4.1, and IV

[ Question ID : 71939922144

Q.5 Which of the following can be defined as the process of giving rewards and
punishment to the children?

Ans x 1. Accompaniment
f 2. Reinforcement
x 3. Consolidation

x 4. Enhancement

Question ID : 71939922146

Q.6 Which of the following is/are type(s) of value?
I. Moral
1. Cultural

1ll. Universal
IV. Spiritual

Ans  of 1111, 1l and IV
25 2.1, 1land Il
75 3.1, llland IV
25 4.0, and IV

[ Question ID : 71939922148

Q.7 To live at one level, disregarding the total process of life invites

Ans J 1. Misery and destruction
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X 2. Happiness and money
x 3. Great knowledge

X 4. Enlightenment

[ Question ID : 71939922158
Q.8 ‘Choice of challenge’ is a characteristic of which of the following?
Ans x 1. Values
J 2. Motivation
/5 3. Discipline
x 4. Inclusive education
[ Question ID : 71939922147

Q.9 Which sociologist observed that the teaching process, teaching method and language
makes a difference between oppressors and oppressed?

Ans ( 1. Paulo Freire
x 2. Talcott Parsons
X 3. Karl Marx

x 4. Pierre Bourdieu

[ Question ID : 71939922151

Q.10 Which sociologist laid emphasis on the role of education system in the preservation of
society and culture?

Ans X" 1. John Dewey
o 2. Emile Durkheim

/5 3. Karl Marx

75 4. Ivan llich

[ Question ID : 71939922150

Q.11 A teacher should know the cross-cultural understanding of the community where the
school is. This can be done through which of the following?

I. Exploring about the diversity in community
1l. Avoiding bias and preconceptions

Ans X 1. Neither | nor
W 2. Both land I
75 3.0nly|
< 4.only i

[ Question ID : 71939922152

Q.12 el o & IR, Frafif@d 3§ @ o1 At siadet ) ve arr fakivar 7t 82
Ans (1 3 wiffer 8 S

25 2. TR H B

o 3. Stifal SR safdad S # 3T
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75 4 Reeg @

Question ID : 71939922142

Q.13 is/are the collective conscience and unwritten constitution of any society.
Ans & 1 Values

( 2. Both norms and values
x 3. Roles
X 4. Norms

[ Question ID : 71939922149

Q.14 Which of the following is/are ways to enhance motivation in children?
I. Give children opportunities to evaluate their own accomplishment.

1l. Allow children ample time when working to allow for persistence.
lll. Playtime should be structured and organised.

Ans X 1.1, 1land Il
/X 2.Both I and Ill
75 3.Both Il and Il

o 4. Bothland I

Question ID : 71939922143

Q.15 Which of the following is NOT a function of School Management Committee as per
Right to Education Act, 2009?

Ans X" 1. Prepare school development plan

X 2. Monitor utilisation of grants
x 3. Monitor the working of school

( 4. Encourage parents to punish their child

[ Question ID : 71939922153

Q.16 Which of the following are commonly identified skills in the teaching - learning
process?

I. Skill in putting question

1. Skill in introducing the topic
11l. Skill in non - verbal cues
IV. Skill in explanation

Ans X" 1.1, llland IV

o 2.1 1 1land IV
25 3.1, and Il

X 4.0, 1 and IV

[ Question ID : 71939922145

Q.17 Which of the following is not a part of six theories of knowledge and truth?
Ans X 1. The Coherence theory

#< 2. The Intuition theory

X 3. The Revelation theory
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( 4. The Dogmatic theory

Question ID : 71939922155

Q.18 fmfifaa & @ #19 W st e 31 S o 31 v fafy =8t 32
Ans X' 1. A A

V 2. 77 simiie (A Hiewfe) B

X 3. T U §AM

X 4. Ife=iad @R

Question ID : 71939922141

Q.19 Which of the following is NOT one of the attitude of the effective teacher?
Ans x 1. Sensitively accepting diversity

X 2. Fostering individualized instruction
x 3. Encouraging creativity

( 4. Passing and responsibility

[ Question ID : 71939922140

Q.20 Which of the following type of thinking is characterized by a predominance of actual
objects and events and the absence of concepts and generalization?

Ans x 1. Deductive thinking
X 2. Inductive thinking
“ 3. Concrete thinking

X 4. Abstract thinking

[ Question ID : 71939922139

Section : Discipline2

Q.1 Demonstration method of teaching is a

Ans X 1. learner centered method
x 2. competency based method
X 3. subject centered method

« 4. teacher centered method

Question ID : 71939922167

Q.2 frufafEd # & #1 d wra $83-or7f uieaR @ daifta 82

1. &

1l STl
. srafran
V. USITg

Ans X 1| TUTIV GHI

W 2L amy

Ao
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[ Question ID : 71939922177

Q.3 Which methods is/are used for examining Collaborative learning processes?

I. Conversation analysis
1. Statistical discourse analysis

Ans X" 1. Only|

o 2.Bothland I

25 3. Neither I nor Il

X 4.0onlyll

Question ID : 71939922172

Q.4 Which physiologist worked on Classical Conditioning?
Ans X" 1. B.F. Skinner

x 2. Bandura

J 3. Ivan Pavlov

75 4. Piaget

[ Question ID : 71939922164

Q.5 Which of the following are the usefulness of competency based approach in teaching-
learning process?

l. It keeps the learner away from rote memorization.
1. What students learn today cannot be forgotten tomorrow.

lll. Assessments of competencies are directly linked with the objectives of learning
experience.

Ans X 1 land Il
X 2. 1and Il
o 3.1 1and
25 4. lland I

Question ID : 71939922166

Q.6 intelligence according to Gardener helps individuals to recognize and make
distinction about others’ feelings, intentions and respond accordingly.

Ans x 1. Musical
x 2. Inter-personal
J 3. Intra-personal

x 4. Linguistic

Question ID : 71939922169

Q.7 What is the role of a teacher in enhancing physical climate of the classroom?

l. To encourage students for beautification of the classroom walls with paintings and
activity charts.

Il. To ensure safe and secured conditions of the building in which the class functions.
1ll. To encourage students to share different activities like cleaning, disposal of
garbage etc. among themselves.
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Ans X" 1 land Il

< 2. lland Il
X 3. 1and il
W 4.1 1and i

[ Question ID : 71939922173

Q.8 Modern education

l. is developing the interact.
Il. offers more and more theories and facts.

Ans X" 1. Neither I nor Ii

75 2. 0nly|
X 3.0nlyll

o 4.Both land I

Question ID : 71939922159

Q.9 In which of the following areas of learning, does Co-operative approach have a
positive effect?

l. Academic achievement

Il. Collaborative behaviour

lll. Cross-cultural understanding

IV. Relationship and attitudes towards disabled students

Ans X" 1 11, Il and IV
X 2.1, land IV
25 3.1, 1land Il
o 41,11, 1lland IV

[ Question ID : 71939922171

Q.10 Which of the following imitative behaviour is related to the responses of the model not
to his/her behavioural characteristics per states?

Ans X" 1. Modelling effect
/X 2. Dis-inhibitory effect
/5 3. Inhibitory effect

W 4. Eliciting effect

[ Question ID : 71939922161

Q.11 On which of the following parameters, a teacher should measure the success of
his/her lesson plan to encourage discovery learning among his/her students?

I. Increase in relevance of questions asked by students.
1l. Conviction in students in challenging opinions of other students, teacher and

textbooks.
lll. Frequency with which students ask question.

Ans o 1.1 lland i
X 2. 1and Il
25 3. 1and Il
X 4. lland I
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[ Question ID : 71939922163

Q.12 What is/are the roles of the teacher as a classroom manager?

I. Teacher has to plan meticulously the learning activities, provision of material and
assessment strategies in advance.

Il. The teacher has to ensure that every child in the class realize their right to
participation and right to organization.

Ans  of 1 Bothland |l
25 2. Neither I nor Il
X 3.0nlyll
X 4.0nlyl

[ Question ID : 71939922174

Q.13 IDEAL model for problem solving was developed by
Ans X' 1. Bandura

/X 2. Ballord

{. 3. Bransford

x 4. Lev Vygotsky

Question ID : 71939922168

Q.14 What are your roles as a teacher in the construction of knowledge of your students in
the classroom?

|. Supporting cooperative and collaborative learning in the classroom.
Il. Connecting the activities in the school with those outside the school.
lll. Encouraging self-analysis and self-assessment of their learning progress.

Ans X" 1 lland Il
X 2.only
o 3.1 1and
X 4andll

Question ID : 71939922165

Q.15 Which of the following are the characteristics of the learning-centred education?
|. Teaching and assessing are interwoven.

Il. Teacher and students evaluate learning together.
1. Emphasis is on generating better questions and learning from errors.

Ans  off 1 1 lland Il
X 2. 1and Il
25 3.11and i
X 4andll

Question ID : 71939922170

Q.16 Which of the following can be called as the features of “language”?

I. Language remains completely same throughout one state in a country like India.
Il. Language can reveal social identity of the speaker.
11l. Our choice of words while we speak shows which place we belong to.
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Ans X" 1 land Il

2 2.1, and I
X 3. 1and il
o 4 and

[ Question ID : 71939922176

Q.17 Mathematization is regarded as constituting the higher aims of mathematics and it
includes

l. Visualization

Il. Optimisation
lll. representation

Ans & 1 |l and I

X 2. 1and Il
W 3L and
X 41andll

[ Question ID : 71939922178

Q.18 In a classroom, for teaching various parts of a plant, a teacher instructs each student
to bring a sample of plant from home to the class. Later, she divides the students into
small group of five students and asks them to draw figures of the plant and label them.
By doing so, which of the following benefits is she expecting?

I. Developing social qualities like helping, sharing and accepting responsibility.
Il. Pooling combined resources for successful completion of the task.

Ans X" 1. Neither | nor Ii

X 2.0nlyll

o 3.Both land I

75 4. 0nlyl

[ Question ID : 71939922162

Q.19 To determine the readiness of children to learn, the teacher needs to have some
knowledge of children’s

|. Emotional development
Il. Intellectual development

Ans X" 1 Only Il

o 2. Both land I

X 3.0nlyl

25 4. Neither I nor Il

[ Question ID : 71939922160

Q.20 The dictionaries and grammars derive their value from
Ans X 1. the price of the book

x 2. human behaviour
X 3. environment

( 4. speech community
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l Question ID : 71939922175

/]

Section : Discipline3

Q.1 “After understanding the topic of fractions, a student asks a few questions from

his/her teacher.” The above statement indicates which sequential phase of 5 E’s
learning model?

Ans x 1. Exploration
x 2. Evaluation
« 3. Elaboration

x 4. Explanation

[ Question ID : 71939922179

Q.2 Choose the word that can substitute the given sentence.

Absence of government
Ans X 1. theocracy

x 2. plutocracy

X 3. apostate

f 4. anarchy

Question ID : 71939922192

Q.3 Which of the following Kohlberg’s stage of moral development works best in two-
person relationships with family members or close friends, where one can make a real
effort to get to know the other’s feelings and needs and try to help?

Ans x 1. Universal principles
x 2. Good interpersonal relationships
J 3. Social contract and individual rights
x 4. Maintaining the social order
[ Question ID : 71939922196
Q.4

Which of the following is/are the examples of
deductive method of teaching mathematics?

L. If we have to find the square of (112)?, then we can
use the method of (a + b)2 = aZ + bl + 2ab

II. If we have to find the value of (C!%/C?), then we
can use the law of indices i.e. (a®/a?) = a=®

Ans X 1. Only |
o 2. Both land I

25 3. Neither I nor Il

X 4.0nlyll

[ Question ID : 71939922180
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Q.5 Which of the following statement is correct about Mathematical thinking?

I. Mathematical thinking consists of solving problem and posing problems.
1. Mathematical thinking requires the skills of precise thinking and logical reasoning.

Ans & 1 Only I
25 2. Neither | nor Il

o 3.Both land I

X 4.0nlyl

Question ID : 71939922183

Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

The greatest advancement (1)/ in modern technology is (2)/ the invention with
computers (3)/ No error (4)

Ans x1_4
X 2.2
/X 3.1
43

Question ID : 71939922188

Q.7 Choose the word that is opposite in meaning to the given word.

Harmony
Ans x 1. accord

75 2. skill
J 3. discord
x 4. undo

[ Question ID : 71939922189

Q.8 Process of reflective thinking includes which of the following?
I. Inventing

Il. Theory Building
lll. Generalizing

Ans o 1 1 lland i

/< 2. 1and Il
X 3. lland Il
75 4.0nly

[ Question ID : 71939922182

Q.9 In practice, Skinner’s follower often deal with species-specific behaviour as the
topography of a

I. human being
Il. response

Ans X" 1. Only|

75 2.Both land Il

W 3. oniyl
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X 4. Neither | nor Il

Question ID : 71939922197

Q.10 By which of the following method of teaching mathematics, a teacher can help the
children to apply the concept of profit and loss from the textbooks during marketing?

I. Analytic method
1l. Project method

Ans x 1. Only |

W 2. ony

/X 3.Bothland Il

25 4. Neither | nor Il

Question ID : 71939922185

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

| the teacher to excuse me.

Ans X 1. ask
X 2. told
75 3. tell
o 4. asked

[ Question ID : 71939922195

Q.12 refers to the application of concepts, procedures and methods developed in
mathematics to the objects of other discipline or at least of other fields of knowledge.

Ans “ 1. Mathematization
X 2. Generalization
x 3. Simplification

X 4. Specialization

[ Question ID : 71939922187

Q.13 Which of the following examples can help the students in connecting their knowledge
with the life outside the school?

I. Going market with their parents and observing and participating in the way of buying
and selling of goods and also understanding the approach of buyer and seller.

1l. A frog climbs 60 meters on a pole in a day and slides back 50 meters in a night. If
the pole is 100 meters high, then how many days the frog will take to climb to the top
of the pole?

Ans & 1. Only |

X 2. Neither | nor Il

75 3. 0only i

o 4.Bothland I

[ Question ID : 71939922186

Q.14 Choose the word that is opposite in meaning to the given word.
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Expensive
Ans ( 1. cheap

X 2. costly
x 3. dear
X 4. plenty

[ Question ID : 71939922190

Q.15 What is socialization process?

I. A process by which societies induce their members to behave in socially acceptable
ways.

1l. A process by which societies are induced by their members to behave in socially
acceptable ways.

Ans  of 1 Only|

25 2.0only Il

X 3. Neither I nor Il

25 4.Both land Il

Question ID : 71939922198

Q.16 Which of the following is/are the instructional objectives of mathematics?
I. To develop in the child the power of thinking and reasoning.

Il. To perform computations with speed and accuracy.
lll. To understand and get acquainted with different coins.

Ans  of 1 1 lland

25 2.1and Il
X 3.0nlyll
25 4. 1and i

Question ID : 71939922181

Q.17 Which of the following is not a phase of 5 E’s learning model?
Ans X" 1. Evaluation phase

x 2. Engagement phase
x 3. Exploration phase

( 4. Examination phase

[ Question ID : 71939922184

Q.18 Choose the word that means the same as the given word.

Modern
Ans X 1. obsolete

75 2. worldly
X 3. merry
( 4. current

[ Question ID : 71939922191
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Q.19 Choose the word that can substitute the given sentence.

A person who spends very little
Ans X" 1 drey

x 2. stoic
( 3. miser
x 4. claque

[ Question ID : 71939922193

Q.20 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

To take something to heart
Ans x 1. stand out of the way

J 2. to be greatly affected by something
x 3. assume responsibility for

x 4. to reach a crises

Question ID : 71939922194

Section : Discipline4

Q.1 Which of the following is NOT one of the aspects of Socio - cultural environment?
Ans X" 1. Norms

« 2. Architecture
x 3. Customs

x 4. Traditions

[ Question ID : 71939922203

Q.2 What comes under ‘writing at word-level’ writing activity?

I. Labels for pictures
1. Word puzzles

Ans X" 1 Only|
W 2.Both land I
X 3. Neither I nor Il

25 4.0nly i

Question ID : 71939922212

Q.3 Which of the following statements is/are true?

I. Fill-in exercises can be used for vocabulary.
1. Fill-in exercises do not require much active production of language.

Ans X" 1 Only |

X 2.0nlyll

x 3. Neither | nor Il

o 4. Both land I
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Question ID : 71939922205

Q.4 Which of the following is NOT a learning objective in EVS to be considered while
assessing?

Ans X' 1. Give feed back.
X 2. To know about evaluation skills.
x 3. To understand children’s analytical abilities.

J 4. Use single variety of testing technique.

[ Question ID : 71939922202

Q.5 Which of the following statement(s) is/are correct regarding creative expression in
EVS?

I. Creativity enhances ability to manage change.

Il. Creative expressions can be very useful in developing the affective domain.
11l. Creativity stimulates learning.

Ans X" 1. Both Il and Il

/5 2.Bothland Il

o 3.1 1and
X 4.0nlyl

Question ID : 71939922200

Q.6 ‘FHTH YT P AfY® TH B! femmEr 5w ife & siafa smar g2
Ans X" 1 e

X 2. foe
X 3.
o 4 Te

Question ID : 71939922210

Q.7 fafifad d @ o9 a1 e Rigre Bt e o1 e & 82

1. TRt YfireT
I1. ufrarer® YfreT

Ans  of 1 o
p A I R
25 3. Fadl
P EAEKEE

[ Question ID : 71939922218

Q.8 Which of the following exercise can teacher give to her/his students to teach about
living and non-living things in EVS?

Ans ( 1. Ask the students to list living and non-living things that they see around them.

X 2. Ask the students to memorize examples of living and non-living things from their
textbooks.

X 3. Ask the students to write about artificial and man-made things.
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x 4. Ask the students to copy the example of living and non-living things from their
textbooks.

[ Question ID : 71939922204

Q.9 What is stage 4 called in productive computer session?

Ans J 1. There is no stage 4 in productive computer session.
x 2. Before the computer/tablet/mobile session.
X 3. During the computer/tablet/mobile session.

x 4. After the computer/tablet/mobile session.

Question ID : 71939922217

Q.10 What do you mean by formulaic language?

Ans x 1. The type of english children learn in primary classes.
( 2. The type of english children produce in the early stages of language learning.
x 3. The type of English children learn while graduating.

X 4. The type of English children learn in their secondary classes.

[ Question ID : 71939922211
_ ==
Q.11 Book reviews
Ans x 1. give a sense of achievement.
x 2. show the pupils the new book and tell them what it's about.
« 3. help you to decide on the suitability of a book.
x 4. put the title of the new book on the notice board.
[ Question ID : 71939922206

Q.12 Pl & & S 91 He aTel TS T STUN S ST TP SR T 82
Ans X' 1 DI HodT B ST B gl

75 2. BRIl el Yas aal o1 AR oo BT fasre vt g
X 3. Pt IR, Frrdyef 3R g Bt B
o 4. T B HEIAT G U Ao S B

Question ID : 71939922207

Q.13 AcTPitifed urHIfaal & =T Wi 82
1. gafaate

Il. TG YR

Ans O 4 | T T
2 2. agAd
o 3. Faa
/X 4. P

[ Question ID : 71939922213
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Q.14 f3fira Yurifal 1 IUART HeA & T a=f @ Hava g1 e fireT &1 fewar o2
Ans  off 1 Tarere YT

25 2. gyt yfireT

X 3. ufsrarera yffe

X 4. RN affft

Question ID : 71939922214

Q.15 Which of the following occasions can be decided to use the childrens’ first language?

I. Predicting what comes next in a story.
Il. Discussing learning strategies.

Ans X" 1. Neither | nor Ii

X 2.0nlyll
o 3. Both land I
X 4.0nlyl

[ Question ID : 71939922208

Q.16 Which of the following can be a learning objective in EVS lesson plan while teaching
about living and non - living things?

Ans x 1. Students can draw the diagrams of living things.
X 2. Students will differentiate between artificial and natural things.
J 3. Students could tell the characteristics of living and non =living, things:

X 4. Students will be able to name all the non - living things.

[ Question ID : 71939922201

Q.17 What are the tips for effective classroom use of digital video?

I. Familiarise yourself with the website/media etc.
1l. Watch a sequence several times before showing it so you know when to pause.

Ans  of 1 Both land Il
X 2. Neither I nor Il
/5 3.0nlyl
X 4.0nlyll

Question ID : 71939922215

Q.18 Which story telling technique can be ignored?

Ans X 1. Encourage pupils to take part by giving them chances to repeat key vocabulary and
phrases.

X 2. Ask questions to involve the children.
“ 3. Making sound effects all the time.

X 4. Commentate on the story where needed and relate it to the children.

[ Question ID : 71939922209

Q.19 How many reasons are behind the Erikson’s theory being a stage theory?

Ans  of 14
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X 2.1
X 3.3
X 42

Question ID : 71939922199

Q.20 What are the certain ground rules that will to be negotiated with children to ensure an
inclusive learning environment?

I. Independent learning in pairs or groups requires co-operation, not competition.
1l. Children need to share materials so they all have access to the task.

Ans x 1. Only |
W 2.Both land I

25 3. Neither I nor Il

X 4.0nlyll

Question ID : 71939922216

Section : Discipline5

Q1 fyfiafed § @ ®19 a1 gifre fag= § SRR JH1eH &1 U6 UeR 981 82
Ans X1_1;|'§5

V 2 I EE

/< 3. fommadd
X 49wy -
[ Question ID : 71939922220
Q.2 Which of the following activities are involved in the interactive stage of pedagogical
analysis?
I. Giving feedback.

Il. Deciding on expected learner’s responses.
11l. Deciding methods/approaches of stimulus presentation.

Ans  of 1 1 lland Il
25 2.Bothland Il
/< 3.Both I and Ill

75 4.Both Il and Il

Question ID : 71939922235

Q.3 AABC and APQR are congruent to each other. If AC = 12 cm, then what will be value of
PR?

Ans  of 1 120m

25 2.15¢cm
X 3.18cm
X 4.10cm

Question ID : 71939922226
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Q.4 Which of the following methods used in discovery approach to teaching science is/are
based on inductive thinking?

I. Open discovery method
Il. Guided discovery method
11l. Deductive discovery method

Ans " 1 Only II

25 2.only

o 3.Bothland I

X 4.0nlyl

Question ID : 71939922233

Q.5 Which of the following are related with “Prior negative experiences with
mathematics”?

I. Unfavourable school climate

Il. Lack of encouragement from parents and/or teachers
11l. Lack of positive role models

IV. Ethnic and/or gender stereotypes

Ans  of 1101 1l and IV

X 2. 1land Il
25 3.1, 1land I
X 4., and IV

Question ID : 71939922227

Q.6 Which of the following combination is not correct?

Ans X" 1. (4x - 3) x (2x) — Multiplication of a monomial with a polynomial

7< 2. (9x% — 15xy) + 3x — Division of polynomial by a monomial

x 3. 2x x 3y — Multiplication of monomials

( 4. (5x) — (2x) — Division of monomials

[ Question ID : 71939922230

Q.7 Which of the following is an academic discipline incorporating fields such as
surveying, geographic information systems, hydrography and cartography?

Ans X" 1. Areal Differentiation
x 2. Human Geography
J 3. Spatial Science

x 4. Pedagogy

[ Question ID : 71939922223

Q.8 In which of the following way we can represent a data regarding the population of five
different countries in a particular year?

l. Table

1. Bar graph
11l. Histogram
IV. Pie chart

Ans X" 1 land Il
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25 2.1, and IV

X 3 landll
W 411, 1and IV

Question ID : 71939922229

Q.9 According to National Curriculum Framework (NCF), 2005 which of the following
statement(s) is/are correct regarding teaching History at the upper primary stage?

I. At the upper primary stage, History must focus on developments in India.

1l. At the upper primary stage, History will take into account developments in different
parts of India, with sections on events or developments in other parts of the world.

11l. At the upper primary stage, History will only take into account development in
different parts of India.

Ans " 1. Only|
X 2.ony
W 3. oniy i
25 4.1, and I

Question ID : 71939922221

Q.10 Which of the following is/are the characteristics of investigative science identified by a
teacher in the science classroom?

I. Pupils have to make their own decisions.
1l. No investigation will allow pupils to use every kind of investigational procedure.

Ans  off 1 Bothland |l

25 2.0nlyll

25 3. Neither I nor Il

X 4.0nlyl

Question ID : 71939922234

Q.11 e ¥ fag ver & Rie Frafaf@a § @ o1 a1 surm g @ @ e $Higa 22
Ans X' 1. 5 — 37 TART JURTH

X 2. I5dS U

W 3. TEiRed crafiE SurT

X 4. fsatt Iurm

Question ID : 71939922232

Q.12 Which is essential for implementation of inclusive education?

I. Teacher education
1l. School leadership

Ans & 1. Only |l

o 2.Both land I

75 3. 0nlyl

X 4. Neither | nor Il

[ Question ID : 71939922237
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Q.13 Which of the following is a benefit of inclusion for students without S.E.N.?
I. May serve as per tutors during interactional activities.

Il. To learn to communicate and deal effectively with wide range of individuals.
1ll. Chance to learn about many human device professions.

Ans " 1 Jland Il
25 2.1and Il
W 3.1 l1and Ill
X 4andll

Question ID : 71939922238

Q.14 Which of the following propertie(s) of circle is/are correct?

|. Opposite angles of a cyclic quadrilateral are supplementary. ABCD is cyclic
quadrilateral as its vertices lie on the circle.

Il. The degree measure of an arc is equal to twice the measure of angle inscribed in the
opposite arc.

Ans X" 1. Only |

o 2. Both land Il

25 3. Neither I nor Il

75 4. Only i

[ Question ID : 71939922228

Q.15 Which of the following is/are the aspects of educational evaluation in teaching
learning process?

I. Content

Il. Learning objectives

lll. Learning activities

IV. Evaluation procedures

Ans 1.1 lland Il

25 2.1, rand IV

W 3.1, and IV

25 4.1, and IV

Question ID : 71939922236

Q.16 Which of the following statements regarding inductive reference method of teaching
science in teaching-learning process are correct?

I. In this method, knowledge is self-acquired and is transformed into wisdom.

Il. Learning by doing is a basis of this method.
lll. It develops the habit of keen observation boosting critical thinking in students.

Ans X" 1. Both Il and Il
75 2.Both land Il

/5 3.Both I and Ill

W 4.1 11and Il

[ Question ID : 71939922231

Q.17 Which of the following are purposes of assessment in social sciences at elementary
level?

I. Identify the individual needs and requirements.
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Il. Improve teaching learning process.
lll. Do away with the fear of assessment among children.
IV. Encourage children to learn individually.

Ans X" 1.1 llland IV

X 2.1, 1l and IV
25 3.0, and IV
W 4.1 1and

[ Question ID : 71939922224

Q.18 YErael B FAfHd HIA V SATUHT 47 dreqd 82

1. T ) W BT o T 991 & e wemfea s
I1. 71T (g ot Sed] WY 91 €, I Sraiy= o1 Jeradr & fore Hafia ©u @ g4 v
P P TTTgHAT gl 2

Ans B 1 | T I G
W 2. Faa
X 3. Fad |

X4 T

[ Question ID : 71939922219

Q.19 Which of the following activity/activities can be given to the students to teach about
‘cultural diversity in India’?

I. Asking one student to read about cultural diversity in the class.

1l. Asking the students to list different cultures of India and write their features.

11l. Asking students to write about the different dimensions of cultures of India and
prepare a chart on it.

Ans X" 1. Only|

2 2.1, land I

o 3.Both Il and Il

75 4. only

[ Question ID : 71939922222

Q.20 An article is sold at a discount of 25%. If marked price of article is Rs. 6000, then what
will be the selling price of article?

Ans X' 1.Rs. 4200
/X 2.Rs. 5400
o 3.Rs. 4500

/X 4.Rs. 4800

[ Question ID : 71939922225
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